TGT HINDI

1. Who launched the 90-day campaign 'Azadi Se Antyodaya Tak'?
(A) Amit Shah

(B) Piyush Goyal

(C) Kiren Rijiju

(D) Giriraj Singh

Correct Answer: (D)

2. Which country signed agreements on training staff and IT cooperation to deepen railway
cooperation In Sep 20227

(A) Russia-India

(B) Ukraine-Turkey

(C) India-Bangladesh

(D) America-India

Correct Answer: (C)

3. The “Donbas War” is currently being fought in
(A) Serbia

(B) Ukraine

(C) Syria

(D) Lebanon

Correct Answer: (B)

4. Pedagogy is the study of
(A) education

(B) learning process

(C) teaching methods

(D) guiding students
Correct Answer: (C)



5. Dyslexia is associated with
(A) mental disorder

(B) mathematical disorder
(C) reading disorder

(D) behavioural disorder

Correct Answer: (C)

6. Which government organizations will develop guidelines for the education of gifted children?
(A) NCERT and NCFCS

(B) NCERT and NCTE

(C) NCERT and NTA

(D) NCERT and SCERT

Correct Answer: (B)

7. forg# te ug R{Awer 3R tF gg R[AST QT &, 37 AT IHAT H Fea § -

Correct Answer: (C)

8. TeEfaf@a # & adel &1 ¢t @ g Ueq ¢ -

(A) 3RS
(B) 3meifare
(C)3mefate
(EUREIC

Correct Answer: (C)



9. T fAsheq & W faciA-g7e 87

Correct Answer: (B)
10. .SATRIOT T EfSe & HlT-AT T AE 87

(A) TEr &7 30 3R goT9C gl
(B) #I¢r 9X 3 3R U~4c gl
(C) G fhaR 38 3R g«TuC gl
(D) =& & 39 3R g4c gl

Correct Answer: (D)
11, fAFAT@d eredl W faar AT

(1) 3Rfaw<
(2) 9=y
©EICIEIE]

(4) arge

fore fashed & @elr oree g &7
(A) 2, 3 3k 4

(B) 3 3R 4

(C) 1, 2 3k 4

(D) 2 3R 3

Correct Answer: (C)



12. BE & 98 Iy Fhd & TATHR HieT §7?
(A) 3reaTgare g gieiy

(B) ¥Rdwg gReTg

(C) #HRS eROT e

(D) FIericd AUTET forer

Correct Answer: (C)

13. AT & Hor 39dred i a1 87

1. S8 & 98 TUS ggdr, IS T &

2. U AR § 3R (F8)3reddrer # st g

3. 381 §ga IRHA T, Re ABe o & HH|

4. IEATH o AT 6 g e g

(A)SIE & 9§ TUA Tga
(B) (%) 3udrer & o7l &
(C)3u=T Sgc dfsrs foparr
(D) geat o Bl

Correct Answer: : D



14. fhe @Hg # @l dcqA Ueg § ?

Correct Answer: (B)

15. 3@ off Thd T § TaT |

T T Aot 6T H S IR |
ST OFd # Pl-AT 3eHR ¥ -

Correct Answer: (D)

16. AR I H FAMCH & Id §EAEN & FW ST -HT  HYUA IUJF e
£7?

(A) 3M9ehT TO=r

(B) #Had

(C) 39T Jas

(D) 39T &g UTH

Correct Answer: B.



17. Aefaf@d § @ 5T & v & waer (RuFa Res) TeFT Bl 872
(A)TFcdm AR FOT Fh
(B)&UT 3R 3UIE FR&
(C)H IR TFa=T Fh
(D)FFYETeT 3R HfAOT FR*

Correct Answer: (B)

18. T ASh ST W E | R S SM W@ 8 | 3T gl arerdi F Hlef § YR
HATH/ FAATT JIFT U &7

(A) FAARTT TEgErdr a9 3R AfPad aeaErd a5a

(B) 3ifafRaa degEr aver 3k HfRTq gegEmr  faewor

(C) sfAfegd aR#AmEr fagwor 3R ARgquRAErRY  fayor
(D) 3fafRad aR#mErRY Jdver 3R ARTa gl fadwor

Correct Answer: (B)

19. SATHET fsham &1 F41 ggarT §7?

(A)SIS Ig 9aT Tl foh FH  edl GaRT 9 foRAT 1T gl

(B)SIS FIA Shedl SaRT TGT of Xeh [ohdl AR & F@RT J1CT gl
(C)SI foram Ug ar am 318 uel & Ao &= &l

(D) &=, FaaH AR fawor 3nfe ereer & fORam gg ST SATaT B

Correct Answer: (D)



foder - frafaf@d s &I eaeqds 9ier qur 38 W ARG 9611 & 3cai ST

HfEATHF AT 1 AT & 39T g1 Do H gfAfeT Farg, FaEed, FAqur RAsR
scalfe AT ST &1 JfedrcHs 33 384 ool et 81 301 Ao, afe v
Aeg, H FgeAT dlg, dl 96, FIH g1 TgI TIA 9 37 & 34 a7AH AT & fov
cgaed fohar a2 &, TSt foih Regail & aur ga@v w&l & wigeat & arn S g
Y FYROT HerIR & AT T& & dreled Fxeh WY S €1 37 T AT 1 gehra
fear 3R T Fr 3T & gar & el o aR-aR forar § & S W varE sHenr
U Sgd 931 TESh g &1 IS 38 HfgdreAs ggfed &1 Se[d 3R goe X # Ty
oTAT ST, Saqel & &1 313qrE AT Sv 3 38 W QU &4 f&ar e, ar feiaan
gcdlie ST 3H% ALY &g ¥9 ¢G4 H 3ATd g, 37T g Ued fhv S dhd g1 g
gl & I8 HJST & T Fesra of¢l, 9-gfAarg o1 &, 37vd Herar g |@sfr o
ITCT A &1 Hel Hed BIcT ol

20. 3UYeF ICITA HT Haldh IuFFd MYH &
(A) IR &l HAGccd

(B) SaRATFA T AT

(C) 3fgar 3R dF

(D) dgfrarg ard

Correct Answer: (A)



